Intermediate 1 Prelim 1 Units 1,2 Revision

Non-Calculator

1.
a)  Find 20% of £840

              b) Find  
[image: image5.bmp] of 144Kg

              c)  Find   -16 – (-8)

              d)  Find   1.2 x 60

              e)  25.6 – 2.4 + 3.2
              f)  Change 0.27 into a fraction

2.
The heights of a class of 20 pupils were measured. Show these heights in a 
             stem-and-leaf diagram.
          
146 156 149 157 158 165 166 160 161 154

          
166 167 159 151 166 167 149 155 162 167

       Work out the range and the median of the heights.

3.
      

[image: image2]

What is the volume of this cuboid?

4.
A bag contains 4 blue marbles, 4 red marbles and 5 green marbles. What is the probability that the first marble picked from the bag is green?

5.
It took a racing mechanic 48 seconds to change 4 tyres. Working at the same rate, how long would it take him to change 6 tyres?

6.
Find the value of   4x – 3y    when  x = -2  and y = 4 .

7.  
Calculate the total area of this shape which is a rectangle and a right angled triangle.

[image: image1.wmf]8

7


8.
The temperatures recorded in Fraserburgh over 10 days were
-2  1 0  3  2  -3  5  3  3  1  

(a) Find the mean temperature.

(b) What is the mode?

9.
(a)  
On a coordinate diagram plot the following points:
          

A(-5, -3)   B( 4 , -3)   C( 4 , 6)

(b)
The 3 points are corners of a square. On the same diagram plot the point D which is the fourth vertex of the rectangle.

(c) 
Write down the coordinates of D.
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10.
Pupils in a school were asked their favourite Chocolate biscuit and this pie chart was drawn.
                There are 1480 pupils in the school. How many pupils said that wagonwheels are their favourite biscuit?
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